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Puzzle test exercise for IBPS PO Pre, IBPS SO 
pre, IBPS clerk, SBI PO pre and  SBI Clerk 
exams  

PUZZLE TEST SET NO. 93 

Directions: Read the given information carefully and answer the questions 

given beside: 

Eight boxes namely H to O are placed in a rack one above the other. The 

lowermost rack is numbered as 1 and above is 2 and so on. Each of the 

boxes is having different colors among Blue, Green, Yellow, Red, White, 

Orange, Indigo and Red. Each of the boxes is having different serial 

numbers among 19, 23, 17, 31, 34, 37, 27 and 21. All the above information 

is not necessarily in the same order. 

There are three boxes are placed between the box which having serial 

number as 27 and the Indigo colored box. Box J’s serial number is not 27. 

The Indigo colored box is placed adjacent to blue colored box. Box I’s serial 

number is 37 and doesn’t placed at the topmost rack. Box M is Yellow 

colored and placed adjacent to the Red colored box. Box H is placed in the 

even numbered rack above fourth and it is placed adjacent to box which 

has serial number as 31. Not more than five boxes are placed above the 

Red colored box. Box J is placed in the seventh rack and Box H is placed 

adjacent to Box J. Two boxes are placed between the boxes having the 

serial number 21 and 34. Box J is White colored. Maximum numbers of 

boxes are placed between the Brown colored box and Orange colored box. 

Box H is not Brown colored. Box L is Green colored and it is placed adjacent 

to the Orange colored box. Box N’s serial number is 21 and placed in the 

lowermost rack. The box which has serial number as 23 is placed three 

boxes above the Yellow colored box. Box O’s serial number is 19. The box 

which has serial number as 17 is placed above the box which has serial 

number as 34. 



 

 

1. What is the serial number of Box H? 

A. 23    B. 33    C. 17 

D. 27    E. None of these 

2. Which among following combination is true? 

A. Box N-Brown-21-1st rack  B. Box M-Yellow-34-3rd rack 

C. Box K-Blue-31-5th rack  D. Box O-Orange-19-8th rack 

E. None of these 

3. In certain way Box O is related to serial number 17, Box H is 

related to serial number 34 and in same way Box M is related to 

which among the following serial number? 

A. 21    B. 23    C. 37 

D. 27    E. None of these 

4. Which of the following statements is true? 

A. Only two boxes are placed below Box M 

B. Number of boxes placed between Box K and Box I is same as Red and 

Green colored box 

C. Box L and Box K are placed adjacent to the box which has serial number 

as 34 

D. Box H is placed two boxes above the Red colored box 

E. None of these 

5. Four of the following five are alike in a certain way and hence 
form a group. Which of the following does not belong to the 
group? 

A. Box L-34   B. Box M-27   C. Box H-19 

D. Box O-17   E. Box K-23 



 

 

Correct answers: 

1 2 3 4 5 

C C D E E 

 

Common Explanation 
  
References: 
  
Box N’s serial number is 21 and placed in the lowermost rack. 
  
Two boxes are placed between the boxes having the serial number 21 and 
34. 
  
Box J is placed in the seventh rack and Box H is placed adjacent to Box J. 
  
Box J is White colored. 
  
Box H is placed in the even numbered rack above fourth and it is placed 
adjacent to box which has serial number as 31. 
  
Box J’s serial number is not 27. 
  
Inferences: 
  
From above statements, 
  
First 2 statements can be directly filled in the table as shown. 
  
Box J is White colored and it is placed in the 7th rack (reference points 3 & 
4) 
  
Box H can be placed either 8th or 6th floor (above 4th floor & adjacent to 
7th floor). Thus we get two possibilities (reference points 3 & 5) 
 
Case-1: Box H is placed in the 8th rack and Box J’s serial number is 31 as per 
statement. 



 

 

Case-2: Box H is placed in the 6th rack and either Box J’s serial number is 31 
or the box which is placed in 5th rack is serial numbered as 31 as per 
statement. 
  
Note: Box J’s serial number is not 27. 
  
By using above information, we get the following table as shown, 
 

Case-1 

Rack Box Color Serial Number 

8 Box H     

7 Box J White 31 

6       

5       

4     34 

3       

2       

1 Box N   21 

  

Case-2 

Rack Box Color Serial Number 

8       

7 Box J White 31 

6 Box H     

5     31 

4     34 

3       

2       

1 Box N   21 

 
References: 
 
Maximum numbers of boxes are placed between the Brown colored box 
and Orange colored box. 
  
Box L is Green colored and it is placed adjacent to the Orange colored box. 



 

 

Box H is not Brown colored. 
  
Inferences: 
  
From above statements, 
 
With respect to the 1st reference point, Brown and Orange colored box is 
placed in topmost and lowermost rack (not necessarily in the same order). 
By this 6 boxes (maximum possibility) can be placed between Brown and 
Orange colored box. 
  
We know, Box J is White colored and it is placed in the 7th rack. So Orange 
colored box can’t be place at 8th rack since Orange colored box is placed 
adjacent to Green colored box (Box L). Therefore Brown colored box is 
placed at 8th rack (topmost) and Orange colored box is placed at 1st rack 
(lowermost) i.e. Box N as per table in both cases (reference point 2) 
  
Box L is Green colored and it is placed in 2nd rack in both cases (reference 
point 2) 
  
By using 3rd reference point Case-1 gets eliminated since Box H is not Brown 
colored. 
  
By using above information, we get the following table as shown, 
  

Case-1 [Eliminated] 
Box H is not Brown colored. 

Rack Box Color Serial Number 

8 Box H Brown   

7 Box J White 31 

6       

5       

4     34 

3       

2 Box L Green   

1 Box N Orange 21 

  



 

 

Case-2 

Rack Box Color Serial Number 

8   Brown   

7 Box J White 31 

6 Box H     

5     31 

4     34 

3       

2 Box L Green   

1 Box N Orange 21 

 
References: 
 
Box I’s serial number is 37 and doesn’t placed at the topmost rack. 
  
Inferences: 
 
From above statements, 
 
Note: We get 2 more possibilities from case-2 by using 1st reference point 
as shown. 
 
Case-2: Here, Box J’s serial number is 31. Box I’s serial number is 37 and it is 
placed in 5th rack 
 
Case-2-A: Here, Box J’s serial number is 31. Box I’s serial number is 37 and it 
is placed in 3rd rack 
 
Case-2-B: Here, the box which is placed in the 5th rack is serial numbered as 
31. Box I’s serial number is 37 and it is placed in 3rd rack.  
 
By using above information, we get the following table as shown, 
  

Case-2 

Rack Box Color Serial Number 

8   Brown   

7 Box J White 31 



 

 

6 Box H     

5 Box I   37 

4     34 

3       

2 Box L Green   

1 Box N Orange 21 

  

Case-2-A 

Rack Box Color Serial Number 

8   Brown   

7 Box J White 31 

6 Box H     

5       

4     34 

3 Box I   37 

2 Box L Green   

1 Box N Orange 21 

 

Case-2-B 

Rack Box Color Serial Number 

8   Brown   

7 Box J White   

6 Box H     

5     31 

4     34 

3 Box I   37 

2 Box L Green   

1 Box N Orange 21 

  
References: 
 
Box M is Yellow colored and placed adjacent to the Red colored box. 
  
The box which has serial number as 23 is placed three boxes above the 
Yellow colored box. 



 

 

Not more than five boxes are placed above the Red colored box. 
  
Box O’s serial number is 19. 
  
Inferences: 
  
From above statements, 
  
Case-2: Here, Box M is Yellow colored and it must be placed in 3rd rack and 
the box which has serial numbered as 23 is placed in 6th rack (only 
possibility) i.e. Box H as per table (two boxes are placed between Box M 
and Box H (serial number 23)). Red colored box is placed in the 4th rack 
(reference points 1, 2 and 3 gets satisfied). Now, Box O is placed in 8th rack 
(only possibility) and its serial number is 19 (reference point 4 satisfied) 
  
Case-2-A: Here, Box M is Yellow colored and it must be placed in 5th rack 
and the box which has serial numbered as 23 is placed in 8th rack (only 
possibility) (two boxes are placed between Box M and the box which has 
serial number as 23). Red colored box is placed either in the 4th rack or 
6th rack (reference points 1, 2 and 3 gets satisfied). Now there is no place 
for Box O (serial number is 19). Hence this case become invalid and it can 
be eliminated. 
  

Case-2 

Rack Box Color Serial Number 

8 Box O Brown 19 

7 Box J White 31 

6 Box H   23 

5 Box I   37 

4   Red 34 

3 Box M Yellow   

2 Box L Green   

1 Box N Orange 21 

  
  



 

 

Case-2-A [Eliminated]  
No place for Box O (serial number is 19) 

Rack Box Color Serial Number 

8   Brown 23 

7 Box J White 31 

6 Box H Red   

5 Box M Yellow   

4   Red 34 

3 Box I   37 

2 Box L Green   

1 Box N Orange 21 

  
Case-2-B: Here, Box O is placed in 8th rack (only possibility) and its serial 
number is 19 (reference point 4 satisfied). Now, Box M is Yellow colored 
and it must be placed in 4th rack and the box which has serial numbered as 
23 is placed in 7th rack (only possibility) i.e. Box J as per table (two boxes are 
placed between Box M and Box J (serial number 23)). Red colored box is 
placed either in the 5th rack or 3rd rack (reference points 1, 2 and 3 gets 
satisfied). 
  
By using above information we get the following cases as shown below, 
  

Case-2-B 

Rack Box Color Serial Number 

8 Box O Brown 19 

7 Box J White 23 

6 Box H     

5   Red 31 

4 Box M Yellow 34 

3 Box I Red 37 

2 Box L Green   

1 Box N Orange 21 

  
References:  
 



 

 

The box which has serial number as 17 is placed above the box which has 
serial number as 34. 
  
There are three boxes are placed between the box which having serial 
number as 27 and the Indigo colored box. 
The Indigo colored box is placed adjacent to blue colored box. 
  
Inferences: 
  
From above statements, 
  
Case-2: Here there is no place for the box which has serial number as 17 
above the box which has serial number as 34 (reference point 1). Hence this 
case become invalid and it can be eliminated. 
  
Case-2-B: Here, the box which has serial number as 17 are placed in 
6th racks i.e. Box H as per table (reference point 1). Finally, the Box L’s serial 
number must be 27 (only number left among given) and it is placed in 
2nd rack. Now, Indigo colored box is placed at 6th rack (reference point 2 
satisfied). Blue colored box is placed in 5th rack (only possibility) since Indigo 
colored box is placed adjacent to blue colored box (reference point 3 
satisfied). Finally, Box K is placed in 5th rack and Red colored box is placed in 
3rd rack. Thus all the above conditions satisfied and we get the completed 
table as shown below. 
  

Case-2 [Eliminated] 
Box (serial number 17) is placed above the box 

(serial number 34) [not satisfied] 

Rack Box Color Serial Number 

8 Box O Brown 19 

7 Box J White 31 

6 Box H   23 

5 Box I   37 

4   Red 34 

3 Box M Yellow   

2 Box L Green   

1 Box N Orange 21 



 

 

  

Case-2-B 

Rack Box Color Serial Number 

8 Box O Brown 19 

7 Box J White 23 

6 Box H Indigo 17 

5 Box K Blue 31 

4 Box M Yellow 34 

3 Box I Red 37 

2 Box L Green 27 

1 Box N Orange 21 

 
  



 

 

Explanations: 
 
1. 
 
Following the common explanation, we get "Box H’s serial number is 17". 
 
Hence, option C is correct. 
 

2. 
 
Following the common explanation, we get "Box K-Blue-31-5th rack". 
 
Hence, option C is correct. 
 

3. 
 
Following the common explanation, we get "27". 
 
Relation: Box O is placed two boxes above the box which has 17 (Box H) as 
serial number 
 
Box H is placed two boxes above the box which has 34 (Box M) as serial 
number 
 
Similarly, Box M is placed two boxes above the box which has 27 (Box L) as 
serial number 
 
Hence, option D is correct. 
 

4. 
 
Following the common explanation, we get "None of these". 
 
All statements are false. 
 
Hence, option E is correct. 
 



 

 

5. 
 
Following the common explanations, we get “Box K is placed in 5th rack & 
Box J (serial number is 23) is placed in 7th rack i.e. odd number 
combination”. 
 
Remaining 4 combinations are even numbered combinations. 
 
Hence, option E is correct. 
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